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Commerce
Paper II

TSy
gyautrent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt A/l questions.

A ¢ A TRAGARA THY GAE (50) SgUAE TR foeie STed. W TR g (2)

U SRd. @E U Wi

The lending rates of commercial

banks are usually :

(A) Not affected by Bank rate
(B) Not related to Bank rate
(C) Lower than Bank rate

(D) Higher than Bank rate

Banks which operate through single
office and generally confined to
limited area of town or city are

called :

(A) Central Banks
(B) Urban Banks
(C) Unit Banks

(D) Metro Banks

AR SR ShHeiieiic] SASTel FaHeo-
qu .

(A) S T guifad =id @l
(B) o <URM Fefad T9al
(C) & TUYLT HAT 3T

(D) o TUUT S THA!

1 S{ehT ShIFRIS TehTd HIATCHART ST
Teh! AT fohen IR FAfed STd

.
b
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(A) Gl SRl TR

(B) &0 dh UMM

(C) Thdl Rl TR

(D) HEMTR Sl TEUIdrd
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When money is lent or borrowed for

one day or on overnight basis it is

known as :

(A) Term Money
(B) Call Money
(C) Notice Money
(D) Near Money

Who was the first Indian Governor

of RBI ?

(A) C. D. Deshmukh

(B) Bengal Rama Rau

(C) R. K. Shanmukham Chetty
(D) K. G. Ambegaonkar

Along with Central and State
Governments the paid up capital of

RRB is shared by :
(A) RBI

(B) Sponsoring Bank
(C) NABARD

(D) SBI
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ST oot TehT fearamEret fopan Wt e

Sel ST

(A) Hea TH1 wuEE

(B) wrmoft <7 T WU

(C) ¥= T wura

(D) Hg¥ YHI UM

fod d& o sfeam wfeat v
TR

A) . & e R

(B) e TH1 TS B

(C) ¥R. &. U@ =gl 2
(D) . S et B

Hg d T WHR IR fa9mia

U7 Sk (RRBs) =31 HiSaaTd hivTm=l
el A ?

(A) 3R. <. 374

(B) JT&hal ¥4
(C) Ters
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GATT which was replaced by WTO

was :
(A) An organisation
(B) An agreement
(C) A policy

(D) A conference

Which of the following is not the
item of current account of balance

of payment ?

(A) Import of services
(B) Interest payments
(C) Export of goods

(D) External borrowings

India’s share in global merchandise

trade in 2015 was :
(A) 2.00%
(B) 2.50%
(C) 3.00%

(D) 1.60%
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STl I U SRTfqeh ST se ]
(WTO) TT9T et ot e @efierisht
%A gl ?

(A) TH HEq
(B) Tk X
(C) TH &R
(D) TH TRER

ATt IV IeR & STARS

g A=Al (BOP) =] @IIedr= |
Jad ?

(A) qam= ST
(B) A= QOft
(C) =&g=h fafq
(D) sTe i

I 2015 AL WRAMT SIFTAe 9]
MR fe& T @efierdeht fohdt B ?

(A) 2.00%
(B) 2.50%
(C) 3.00%

(D) 1.60%
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10.

The Asian Development Bank (ADB)

attempts to promote economic

co-operation and growth of the

countries in :

(A) Asia and Far East

(B) South East Asia

(C) South and West Asia

(D) South and Central Asia

The direction of Indian exports has

shifted in recent period towards :

(A) Asia

(B) North America

(C) Europe

(D) Africa

10.
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EeieTieh! ShIocl faYMTdie SvmHed

Y e 9 goi YTl Ja

AMIRA faehr@ % (ADB) &%

(A) eTfern 3 erfagd

(B) =faror qe amifern

(C) <faror g qfy=am enfern

(D) <faror 9 [eg emfymn

ITcAToh g shiedld WA= THafd= feem

a N A N N N Ao~
WltcHenl enlVlcd] slcen]ens doociadl 1G]

Iq ?
(A) STy
(B) S&R |

(C) T

(D) 31fthehT




11.

12.

13.

Which of the Government’s policy in
respect of public expenditure and
revenue has a significant impact on

business ?

(A) Monetary policy

(B) Fiscal policy

(C) Trade policy

(D) Foreign exchange policy
SEZ stands for .................. .

(A) Special European Zone

(B) Special Export Zone

(C) Special Environmental Zone
(D) Special Economic Zone

Which one of the following is not a
level of strategies applicable to

multiunit business ?

(A) Corporate strategy

(B) SBU level strategy

(C) Functional level strategy

(D) Divisional level strategy

11.

12.

13.
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ETATAdh] hITea] TR ENTom=

A @9 (F) 9 Heqd edeed
FEGEER AT (He<arar) qRemH
gl

(A) JeFfao=s gRu
(B) TSThISTE &0l
(C) =R &R

(D) faezit faf= &
SEZ ¥ sTenaR o
(A) faeo Ui &=
(B) favrm frafa &=
(C) fovm wafaoia &=
(D) foRo emfeder &

ETATeTden] IV SHEladl TgHhd

FEHEE @R SV A& ?

(A) FIA SHeTa

(B) LEAIHS ™ Sl TRIEd
R
(C) wEfcHes: TWHd eta

(D) fayria w{E e
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14. Which one of the following is not a

15.

powerful environmental force the

business is confronted with ?

(A) Consumer movement

(B) Environmentalism

(C) Changing competitive

environment

(D) Increasing population

MSMEs contribute about .................

of India’s GDP.

(A) 8%

(B) 19%

(C) 35%

D) 40%
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14. WATCTUeh! SHIV S/ THE SHAHAT]

15.

dqie T AN Hredend Sehiueht

g ?

(A) UTgsh Hcsdd

(B) gIifaRuEe

(C) sEed TefcHes Tqafao

(D) Il ATREE

TH. TH. TH. 3. YRare si. € . =0

(Gross Domestic Product—eees T

(A) 8%
(B) 19%
(C) 35%

D) 40%




16.

17.

As per which accounting convention
‘contingent liability’ is shown by way
of a footnote below the Balance

Sheet ?

(A) Convention of conservatism

(B) Convention of full disclosure

(C) Convention of materiality

(D) Convention of consistency

A company paid T 50,000 for a
purchase of copyright for five years.
The process of writing off this
cost over a period of five years is

called ................ .

(A) Depreciation

(B) Amortization

(C) Deferred Revenue Expenditure

(D) Depletion

16.

17.

JAN - 50218/I1—D

TR RV ehalTHR ATeagTe

el AR {EE QU dederaqey geifael

Sard ?

(A) TETIAT Hehd

(B) TU UehIHRIU Hehd
(C) ¥Ra® Hehd
(D) 9T Hehd

THI STH T 50,000 7 T FEiEIE0

[a)

A &k T@Ral

Sl B U ue

8 ST 19 Wl R v Wishad

(A) =E

(B) 9HYHONG A1 IR0l
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18.

19.

Long term solvency is indicated

by e .

(A) Current Ratio

(B) Debt/Equity Ratio

(C) Net Profit Ratio

(D) Turnover Ratio

Which of the following is not an

assumption of Break-Even

Analysis ?

(A) Total fixed cost does not change

(B)

Total variable cost does not

change

(C) General price level does not

change

(D) Product mix does not change

18.

19.
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STefehTeld alaTdl ©ITeieTdshl ShIOTeT

TR SRifaelt S ?
(A) =Te] TR
(B) hel/Q@HE TR

(C) Tredas I TUIRR

(D) 3@ IO

AN A NN o} TaSELN
Clctlcibenl  onlVid  Hlelden  HHIA=G

fog=a JUahiond Ted o S
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(A) T feer ufera agad e

(B) THY seaidl qReAd dged ATl

(C) HURY fhad Urdes! sgod el
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20. The difference between standard

21.

cost of standard hours and standard
cost of actual hours is called

aAS it .

(A) Labour rate variance

(B) Labour cost variance

(C) Labour efficiency variance

(D) Labour mix variance

In normal conditions, the demand

curve for a commodity :

(A) slopes upwards from left to

right

(B) slopes downwards from left to

right

(C) is horizontal, parallel to X-axis

(D) is vertical, parallel to Y-axis
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90. YHIUR =T YHITSR Gies™ 3107 geed

dMET=ET YHIOR UeTd ATHENd Hish

(A) SR fa=ro

(B) o1 uiemdg fa=ru

(C) 9| wrEeHar fe=ro

(D) &\ Tagor fa=go

21. weOHr aRfEedmed, aeqen Ani-

(A) STeTRed, 3Sehe F@d Sl

(B) STelhgd, 3ITelche IaXd STl

(C) 3Trsan ‘& STefTe THIGR STEql

(D) 3o ‘T’ A&l THIAR STl
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22. Ifthe demand for a product responds

23.

more than proportionate to the

change in its price, it is a :

(A) Perfectly inelastic demand

(B) Perfectly elastic demand

(C) Unitary elastic demand

(D) Highly elastic demand

Which of the following is not

a feature of monopolistic

competition ?

(A) Homogenous product

(B) Large number of sellers

(C) Selling costs

(D) Product differentiation
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22. SR TETEN aEgE AR, fae fRAdidre

23.

IGATAT T SSATAT JHTOMURT  Afeeh

giqee od ST8d X STeN HETOfEN
(A) g Srcrerin HRTOR WU A
(B) Ui feriish AITON T AEA
(C) TH* o=k AU TEUl g
(D) @Eis AR WU AEA
TTefieTdeh! HIVA FeRIQGRIgeR Tef

Ifyreeg AEr ?

(A) THISTTE =&

r\\"\\l

(B) fashca=i HIdl 9=

(C) Tt ==

(D) I %
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24. The law of variable proportions of | 24. STEATEN IEeT FHUTET 99 @ieteiush!
production is applicable in : THIUCHT SHTeTeTe SIS B ?
(A) Long period (A) TrelenTes
(B) Market period (B) TSI ShTeTreEft
(C) Short period (C) ATThTes
(D) Very long period (D) eAfadTeienTas
25. With increasing level of output the | 25. ITURATAT AT TSRO, I
Average Variable Cost (AVC) of a TEA Sed @9 (AVC) :
firm : .
(A) Gear Hedl 9 a8 diae ared
(A) Initially falls, then continues to <
rise
(B) Remain unchanged (B) e
(C) Goes on continuously falling () Hea Wew <R
(D) Goes on continuously rising (D) WA ed S
26. Why is random sampling preferred ? | 26. Jgeseh T o€ 1 THd heil wd 2
(A) It is easy to draw (A) & |t ggd 3T
(B) The results will be statistically (B) vkl deammsia gftesmiarg
valid THUS ST
(C) It is a popular method (C) T TH TR TS 37§
(D) It is free from errors (D) Tt %ol FeRTT=AT SIS o ST
13 [P.T.O.



27.

28.

29.

Which of the following is not an

‘absolute measure of dispersion’ ?
(A) Range

(B) Standard deviation

(C) Mean deviation

(D) Coefficient of variation

The empirical formula used to know

mode iS ....ccoenn.... .

(A) Mean — 2 Median
(B) 2 Mean — 3 Median
(C) 3 Median — 2 Mean
(D) 3 Median + 2 Mean

Which of the following is a

parameter ?

(A) Sample mean
(B) Population mean
(C) Size of sample

(D) Size of population

27.

28.

29.
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JEITdeh! 10 W § TR0 sholed HA'
& ?

(A) wem (fowr)

(B) WM farerer

(C) foreret wex

(D) fo=ror TUmeR

JgoTeh ShISUAT STHEST o

3.

(A) |99 — 2 "
(B) 2 9&1 — 3 H¥h
(C) 3 °#eA® — 2 HA
(D) 3 A&Fsh + 2 "WYY

qEleTdeh! IV ol Uit (Parameter)
e ?

(A) HT 74

(B) §9st 7eA

(C) T STHR (FeHh F&A)

(D) TS SMHR (SEh TE&AN)
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30. Suppose an unbiased coin is tossed.

31.

Event A : Getting head.
Event B : Getting tail.
Which of the following statements

is true ?

(A) The events A and B are

independent

(B) The events A and B are

mutually exclusive

(C) The events A and B are

independent and mutually

exclusive

(D) The events A and B are neither
independent nor mutually

exclusive
Tactic is a component of .............. .
(A) Planning
(B) Organising
(C) Directing

(D) Co-ordinating
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30. HHST THAIA A0 SSfal 3R,

31.

T A : ®9 THeaul.

e B : e Hesul.

qEcdeh! HIod fauH @ oMy ?
(A) =21 (A) 37for s (B) =1 faetst

3R

(B) 521 (A) 301 521 (B) 2 WERA S
3Ted

(C) =11 (A) 27for w12 (B) 4 faetsi
T ERafsd 3Ted

(D) 1 (A) 27for s (B) fiaetsi
ARG qHE WERAfSd 997 AT
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32.

33.

34.

The concept of committee comes

within the scope of ............... .
(A) Directing

(B) Organising

(C) Controlling

(D) Planning

Which one of the following is not

Fayol’s principle of management ?
(A) Unity of Command

(B) Unity of Direction

(C) Authority and Responsibility
(D) Management by Exception
Find the odd one out :

The components of planning are :
(A) Objective

(B) Procedure

(C) Decentralisation of authority

(D) Budget

32.

33.

34.
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ﬁﬂ + Q':n .................
.

A) Tdem

(B) A

(C) T

(D) fsH

EATeTdeh! ShIOdT TI 81 Hald di

HIEAITY axd AT ?

(A) STRIM=N Uehaerdl (TehieHdT)

(B) TAdemm=it Wehamear (WenTeHan)
(C) ¥R 9 SEEERT

(D) STUEIEH SHeEATI

Eciterdent faea (i) Sfiesen/d i :

(C) Aferhrr= faehgieror

)R HEREED
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35.

36.

Motivation is a part of ................ .

(A) Communication

(B) Direction

(C) Organization

(D) Plan

Which of the following statements

is true ?

(A) Marketing and selling are inter-

changeable terms

(B) Marketing and selling are not

inter-changeable terms

(C) Selling is a broader term which

includes marketing

(D)

Advertising includes selling and

marketing

36.
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(D) I (FEsHE)

Gelteien! ®v faue a@ oTR ?

(A) fomum smfor farsht =1 TemTet Heheu

aTRd

(B) formour smfor farsht o Twmmelt Heheun

BR[|

(C) fomnt 21 =Tk Fehod 1 ST ML

faqurErEn wHEET Bl

(D) “hfexdged faset smfor faqumAmn

AT Bl
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37.

38.

Product-oriented concept believes

is the key to success.

(A) Offer of better and modified

products

(B) Fulfilling expectations of

customers

(C) Focussing on drawbacks of

competing products

(D) Manufacturing products on

large scale

Product Life Cycle (PLC) includes

mainly four stages such as

Introduction, Growth, Maturity

and .......ccoueeneee.. .

(A) Prosperity

(B) Decline

(C) Depression

(D) Inflation

37.

38.

JAN - 50218/I1—D

e e HeRETER &
IR T[ofchoet] 3R,

(A) o N 9 o @&ar=
] U HET Q0!

(B) TTgehTeAl STl YUl 0!

(C) THEH T HHAIR AL whisd

Exull

(D) WIS JHUNG e 3Scqed hv]
IE] Seashme] JEld 9’ STl

HHEYT Bdl- e, fashr, Tiewrereen

(A) SRS
(B) 3Tt
(C) el

(D) o<
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39.

40.

In the buying decision process,

is the first step.

(A) Information search

(B) Purchase decision

(C) Evaluation of alternatives

(D) Need recognition

Relationship marketing refers to

maintaining relations with ..............

to achieve the marketing purpose.

(A) Employees

(B) Dealers

(C) Customers

(D) Suppliers

40.
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(B) ®Reren o

(C) vafar=l dedresun
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41. The initial cash outlay of a project

is ¥ 2,00,000 and it can generate
cash inflow of ¥ 80,000, ¥ 60,000,
¥ 1,00,000 and % 40,000 in the year
2013, 2014, 2015 and 2016
respectively. Assume 10% rate of
discount. Calculate the net present

value of cash inflow. Time value of

money of T 1 @ 10% discount

factor :
Year DF Value
1 909
2 .826
3 751
4 .683
(A) 1.1240
(B) 1.1235
(C) 1.335
(D) 1.634
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41. T Yehedrsal YR frfda Ieyare

3 2 ANE 3R, =] U STAIaTE Todieh
FutarEr 2 80,000, T 60,000, T 1,00,000

9 % 40,000 31&r 2013, 2014, 2015 9

2016 WS 3TIhH 3Ted. 10% Hedr=n

W TR "' @ ARYARE e

G Jod el 1 T Fiel 4o

10% HE0 T WATATHT

L DF qcd
1 909
2 826
3 751
4 683

(A) 1.1240

(B) 1.1235

(C) 1.335

(D) 1.634
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42. Which of the following items is no¢ | 42. @ g ¥ Fxam wncfiat
considered while determining the IV HH A WA S A ?
working capital ? (A) T @

(A) Inventory
(B) =Mt Ioft
(B) Trade Receivables
(C) Shdia @ &hH
(C) Cash at bank
(D) HfRE3TT
(D) Software

43. Which of the following is Dividend 43. EICHTRT 0T AT RO ST T

Policy Model ? e ?

(A) Gordon’s model (A) TMEH Hrea

(B) Schumpeter model (B) X dIE

(C) Ricardian model (C) frwrEfam arew
(D) Miles-Ezzell’s model (D) WIETH-3HH HIST

44. The concept of cost of capital can also | 44- wigdd qfemd & |er o aq
be explained in terms of ............... . TR ™ T hdl REGE
(A) Direct cost (A) Ja&§ IR
(B) Fixed cost (B) Teer uftz™
(C) Total cost (C) THU IReTd
(D) Opportunity cost (D) TRt e

21 [P.T.O.



45.

46.

47.

Which is not the example of current
liabilities ?

(A) Advance from customers

(B) Contingent liabilities

(C) Bank overdraft

(D) Provident fund dues

Which one of the following is not a

labour legislation ?

(A) Factories Act

(B) Competition Act

(C) Payment of Wages Act

(D) Industrial Disputes Act
Theory Y’ was developed by ............ .
(A) Fiedler

(B) Vroom

(C) McGregor

(D) Herzberg

45.

46.

47.
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ATk ShIUd TR TId 3STRLUl

A ?

(A) UTEHIhST S A R
(B) 3Thfeh <1
(C) o arfHfaehl

(D) wfosg fatg fash <ot

EITeATeTUeh ShIOTdT TR ShTIe] AT ?

(A) HREMN HIICT
(B) T whTeT
(C) Iaed HEFT

(D) 3ENfiTeh g &

(B) =%=H
(C) HRIR

(D) Fstort
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48. Induction is a function of .............. in | 48. WFEl WY SERATAHEE WO ¥ i
Human Resource Management. U
(A) Performance Appraisal (A) A e
(B) Selection (B) e
(C) Placement (C) w=igHe
(D) Recruitment (D) IR ALl
49. Which of the following does not | 49- TICfieTth! FEMaT 9qT (wages) & T
directly affect wage and salary (salary) T (3TEE) R 9 gRUMH
structures ? Bq A ?
(A) Ability to pay (A) QT (SUIT=ET) IO &
(B) Labour supply and demand (B) SR Y& & HEO
(C) Union demands (C) HeeT=a1 AFTwa
(D) Regional backwardness (D) YRR HETHAIT
50. Employee welfare does not exactly | 50. ShIHTIX sheFrop = L RIRRL]
depend on : W T
(&) Conditions of Work (A) & TRl gt
Environment
(B) Employees’ Health Services (B) FHTA AR TN
(C) Employees’ Education (C) === g
(D) Organisational Culture (D) HeReATEF TEhdt
23 [P.T.O.
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ROUGH WORK
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